
Markscheeze

I Passive transport

I
Active transport

no energy (ATP) required energy (ATP) required
no membrane protein pumps required membrane protein pumps required

particles move down their concentration gradient particles move against their concentration gradient
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3 organs need to be bathed in an isotonic solution (one that is the same as the concentration of the organ's cells) so that
no net movementof water enters or leaves which could damage it;bursting or shrivelling it respectively

4 aerobic respiration required Oz and produces CO2 as waste. As trillions of cells in the bodyrespire theyconstantly require On

and are building up CO2, thus these gases need to be exchanged:
· blood carries CO2 from all cells to the lungs where itdiffuses out

· On from lungs diffuses into blood and carries it to cells to be used

5 diffusion osmosis

both are passive (no ATP required
both result in an equilibrium concentrations equalize

does not require semi-permeable membrane requires semi-permeable membrane

both solvent and solute move I only solvent (water) moves




